Negative Zahlen Variante 6 Klasse: Datum:

Subtraktion bis 100 Blatt 121 Name:

@ a) (+38) - (-33) = b) (-26) - (+46) =
©) (-85 - (-41) = Y (+35) - (-39) = .
e) (-51) - (+45) = ) (-94) - (-96) =

@ a) (+#31) - (-29) = b) (-44) - (+52) =
c) (-91) - (-82 = d) (+48) - (-50) =
e) (-35) - (+26) = ) (-34) - (-92) =

@ a) (+30) - (-23) = b) (-40) - (+47) =
©) (-90) - (-31) = Y (+29) - (-42) = .
e) (-60) - (+39) = ) (-51) - (-799 =

@ a) (+68) - (-32) = b) (-24) - (+54) =
) (o - (52 = RECORE ORI
e) ( - 49) - ( +43) =1 f) ( - 57) - ( - 74) =

O R S @ - (. - -
c) - (-55) = -3 DV (+29) - (-30) =
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Negative Zahlen Variante 6

Subtraktion bis 100 Blatt 121

@ a) (+38) - (-33) = 71 b) (-26) - (+46) = -72
©) (-85) - (-41) =| -44 Y (+38) - (-39 = 74,
e) (-51) - (+45) = -96 ) (-94) - (-96) = 2

@ a) (+#31) - (-29) = 60 b) (-44) - (+52) = -96
c) (-91) - (-82 = -9 d) (+48) - (-50) = 98
e) (-35) - (+26) = 61 ) (-34) - (-92) = 58

@ a) (+30) - (-23) = 53 b) (-40) - (+47) = -87
©) (-90) - (-31) = -59 Y (+29) - (-42) = 71
e) (-60) - (+39) = -99 ) (-51) - (-79) = 28

@ a) (+68) - (-32) = 100 b) (-24) - (+54) = -78
9 (o1 - (52 = a5 V20 - (39 = oo
e) ( - 49) - ( +43) = -92 f) ( - 57) - ( - 74) = i

O R  2n - (a0 - -
© (- 90) - (-55) = -35 DV (v23) - (-30) = 53
€) (-42) - = -77 0 - (-87) = 29
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